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Befüggesztett tartó :

∑MC = 0 = −F1⋅3,0m + F2⋅1,5m + A⋅4,5m
= −6kN ⋅3,0m + 6 kN⋅1,5m + A⋅4,5m
= −18,0 kNm + 9,0 kNm + A ⋅4,5m
= −9,0kNm + A⋅4,5m

A = 2,0 kN (↑)

∑ F y = 0 = −A + F1− F2 + F3 − C
= −2kN + 6kN − 6 kN + 2kN − C

C = 0 kN

Főtartó :

B = D =
F4
2

= 2kN
2

= 1,0 kN (↓)
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∑MC = 0 = F2 y⋅a − D⋅(a + b)
= 10,0 kN ⋅2,0m − D⋅3,0m

D = 6,67 kN (↑)
∑ F y = 0 = C y + F2 y + D

= C y + 10,0kN − 6,67 kN
C y = 3,33kN (↑) C x = −F2 x = 10,0kN (→)

∑M A = 0 = −M + F1⋅a − B⋅2a + q⋅a⋅(2 a +
a
2 ) + C y⋅3 a

= −25kNm + 20 kN⋅2,0m − B⋅4,0m + 5kN /m⋅2,0m⋅5,0m + 3,33 kN⋅6,0m
= −25kNm + 40 kNm − B⋅4,0m + 50kNm + 20 kNm = 85 kNm − B⋅4,0m

B = 85,0 kNm
4,0m

= 21,25kN (↑)

∑ F y = 0 = A y + F1 + B + q⋅a + C y = A y + 20 kN − 21,25 kN + 5kN /m⋅2,0m + 3,33kN
A y = 12,08 kN (↑)

∑ F x = 0 = A x + Cx = Ax − 10kN
Ax = 10,0 kN (→)
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